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* 3-6 kr (0T 0 Ao 4 Mec. ) — 121 penn

DaCKOA 0AHOPA208LIX MIOATY3HVIKOB B AGHb COCTABNAET 8 WT.
acxon 33 4-e Hec. — 121 fews X 8 WT. = 968 WT.

B CDeAHEN 04K 0AHOPA0BHI MOATYHMK CTOWT 2 FDH./WT.

ATOrO: 3a Nepabie YeTHIPE MeCALa Bali 33Tl COCTABAT: 968 WT. X 2 FPH. = 1936 rpH.
e 4-9 kr (074 o 9 Mec. ) — 153 aun

DaCK. 0AHOPa3. MOATY3. B AeHs — 5 WT./AeHs

acx0f 33 5T Mec, — 153 AHA X 5 WT. = 765 W,

B CDeAHEN 04K 0AHOPA0BHI NOATYHMK CTOWT 2 FDH./WT.

ATOrO: 33 5T Hec. Balum 2aTPaTH COCTABAT: 765 WT. X 2 MDH.

¢ 7-18 xr (0T 9 fl0 18 Mec. ) — 274 pun

DaCK. 0HOPa3. MOATY3. B AeHs — 4 WT./AeHs

DacK0n 33 9T Hec, — 274 AHA x 4 WT. = 1096 wT.

B CDeAHEN 04K 0AHOPA0BHI NOATYHMK CTOWT 2 FDH./WT.

ITOFO: 33 9-To Hec. Baly 33TPaTsl COCTaBAT: 1096 WT. X 2 PH. = 2192 rpH. =

e 11-25 kr (o7 8 o 24 Mec. ) — 183 pun

DacK. 04HOPa3. MOATY3. B AeHs — 3 WT./AeHs

acx0A 33 6T Mec. — 183 AHA x 3 WT. = 549 W,

3 CpeAHEN 0K 0AHOPA0BHIA MOATY3HUK CTOWT 2,5 TPH./WT.

ITOTO: 33 9-To Hec. Baly 33TPaTLl COCTABAT: 549 WT. X 2,5 rpH. = 1372,5 rpH. =




